
S5500 S5500SR S7500 S7500SR

DESCRIPTION PART 
NUMBER CONTENTS PART 

NUMBER CONTENTS PART 
NUMBER CONTENTS PART 

NUMBER CONTENTS

Small Parts Kit 
(Includes Brake 
Assembly)

90-42740 3, 8, 16, 
24, 25, 38, 

40, 41

90-42740 3, 8, 16, 
24, 25, 38, 

40, 41

90-42740 3, 8, 16, 
24, 25, 38, 

40, 41

90-42740  3, 8, 16,
24, 25, 38, 

40, 41

Contactor 98-10880  42  98-10880  42  98-10880  42  98-10880  42

Clutch Assembly 90-42767
8, 9 , 10, 11, 
12, 13, 14, 

15, 16
90-42767

8, 9 , 10, 11, 
12, 13, 14, 

15, 16
90-42767

8, 9 , 10, 11, 
12, 13, 14, 

15, 16
90-42767

8, 9 , 10, 11, 
12, 13, 14, 

15, 16

Fairlead 89-42678 Not Shown 89-42678 Not Shown 89-42678 Not Shown 89-42678 Not Shown

Power Cables 90-42742 Not Shown 90-42742 Not Shown 90-42742 Not Shown 90-42742 Not Shown

Hook Assembly 90-42471 Not Shown 90-42471 Not Shown 90-42471 Not Shown 90-42471 Not Shown

Motor Assembly 90-42739 31, 32, 33, 
39, 40, 41

90-42739 31, 32, 33, 
39, 40, 41

90-42739 31, 32, 33, 
39, 40, 41

90-42739 31, 32, 33, 
39, 40, 41

Corded Remote 
Control

2271 
(30 Ft.), 

2272
(15 Ft.)

Not Shown

2271
(30 Ft.), 

2272
(15 Ft.)

Not 
Shown

2271
(30 Ft.), 

2272
(15 Ft.)

Not Shown

2271
(30 Ft.), 

2272
(15 Ft.)

Not Shown

Remote
Socket
Assembly

90-14140 37 90-14140 37 90-14140 37 90-14140 37

Wire Winch 
Rope

89-24640 Not Shown N/A Not 
Shown

89-24640 Not Shown N/A Not Shown

Synthetic Winch 
Rope

N/A Not Shown 89-24642 Not 
Shown

N/A Not Shown 89-24642 Not Shown

101123 | RevC

S SERIES
S5500, S5500SR, S7500, S7500SR WINCHESSERVICE PARTS

Page 1

Clic
k t

o BUY NOW!PD
F-XChange Editor

w
ww.pdf-xchange.com Clic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.comClic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.com Clic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.com

https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42740
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42740
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42740
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42740
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/s5500-12v-5500-lb-wire-rope-trailer-utility-winch-1455200
https://www.superwinch.com/en/products/superwinch/s5500sr-12v-5500-lb-synthetic-rope-trailer-utility-winch-1455201
https://www.superwinch.com/en/products/superwinch/s7500-12v-7500-lb-wire-rope-trailer-utility-winch-1475200
https://www.superwinch.com/en/products/superwinch/s7500sr-12v-7500-lb-synthetic-rope-trailer-utility-winch-1475201
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/contactor-s5500-s7500-12v-winch-98-10880
https://www.superwinch.com/en/products/superwinch/contactor-s5500-s7500-12v-winch-98-10880
https://www.superwinch.com/en/products/superwinch/contactor-s5500-s7500-12v-winch-98-10880
https://www.superwinch.com/en/products/superwinch/contactor-s5500-s7500-12v-winch-98-10880
https://www.superwinch.com/en/products/superwinch/fairlead-assembly-s5500-s7500-winch-89-42678
https://www.superwinch.com/en/products/superwinch/fairlead-assembly-s5500-s7500-winch-89-42678
https://www.superwinch.com/en/products/superwinch/fairlead-assembly-s5500-s7500-winch-89-42678
https://www.superwinch.com/en/products/superwinch/fairlead-assembly-s5500-s7500-winch-89-42678
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42742
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42742
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42742
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42742
https://www.superwinch.com/en/products/superwinch/hook-90-42471
https://www.superwinch.com/en/products/superwinch/hook-90-42471
https://www.superwinch.com/en/products/superwinch/hook-90-42471
https://www.superwinch.com/en/products/superwinch/hook-90-42471
https://www.superwinch.com/en/products/superwinch/replacement-motor-90-42739
https://www.superwinch.com/en/products/superwinch/replacement-motor-90-42739
https://www.superwinch.com/en/products/superwinch/replacement-motor-90-42739
https://www.superwinch.com/en/products/superwinch/replacement-motor-90-42739
https://www.superwinch.com/en/products/superwinch/remote-socket-s5500-s7500-winch-90-14140
https://www.superwinch.com/en/products/superwinch/remote-socket-s5500-s7500-winch-90-14140
https://www.superwinch.com/en/products/superwinch/remote-socket-s5500-s7500-winch-90-14140
https://www.superwinch.com/en/products/superwinch/remote-socket-s5500-s7500-winch-90-14140
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-s7500-winch-89-24640
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-s7500-winch-89-24640
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-s7500sr-winch-89-24642
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-s7500sr-winch-89-24642


ITEM NO. PART NUMBER DESCRIPTION QTY.
1 N/A Screw, Socket Head M5-0.8 X 16mm 6
2 N/A Screw, Socket Head M5-0.8 X 10mm 1
3 90-42740-5 O-Ring, Gearbox 1
4 N/A 1st Stage Planetary Assembly 1
5 N/A Ring Gear, 2nd Stage 1
6 N/A Ring Gear, 3rd Stage 1
7 N/A Drum Support, Gearbox End 1
8 90-42740-3 O-Ring, Clutch Pin 1
9 90-42767-2 Spring, Clutch 1
10 90-42767-3 Handle, Clutch 1
11 N/A Screw, Flat Head M4-0.7 X 8mm 1
12 90-42767-7 Clutch Retainer 1
13 90-42767-4 Roll Pin, Clutch 1
14 90-42767-5 Clutch Pin 1
15 90-42767-6 Clutch Base 1
16 90-42740-4 O-Ring, Clutch Base 1
17 N/A Tie Bar 2
18 N/A Gearbox Cap 1
19 N/A Sun Gear, 1st Stage 1
20 N/A 2nd Stage Planetary Assembly 1
21 N/A 3rd Stage Planetary Assembly 1
22 N/A Screw, Flat Head M10-1.5 X 25mm 4
23 N/A Square Nut M10-1.5 4
24 1710200-11-10 Drum-Bearing 2
25 90-42740-2 Gasket, Drum Support-Drum 2
26 N/A Drum Cover 1
27 N/A Drive Shaft 1
28 N/A Drum 1
29 N/A Drum Support, Motor End 1
30 N/A Screw, Socket Head M6-1.0 X 150mm 2
31 N/A Motor 1
32 N/A Motor Cap 1
33 N/A Screw, Hex Head M6-1.0 X 135mm 2
34 N/A Screw, Pan Head Phillips M5-0.8 X 10mm 2
35 N/A Hex Nut M5-0.8 2
36 N/A Screw, Pan Head Phillips M5-0.8 X 16mm 2
37 90-14140 Remote Socket 1
38 1710200-11-8 Brake 1
39 1710200-11-6 Ball Bearing 1
40 90-42740-1 O-Ring, Motor 2
41 90-42660-3 O-Ring, Motor Bolt 2
42 98-10880 Contactor 1
43 N/A Motor Cover 1
44 N/A Screw, Pan Head Phillips M5-0.8 X 85mm 2
45 N/A Screw, Pan Head Phillips M5-0.8 X 16mm 2

101123 | RevCPage 2

S SERIES
S5500, S5500SR, S7500, S7500SR WINCHESASSEMBLY

Clic
k t

o BUY NOW!PD
F-XChange Editor

w
ww.pdf-xchange.com Clic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.comClic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.com Clic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.com

https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor


101123 | RevCPage 3

S SERIES
S5500, S5500SR, S7500, S7500SR WINCHESASSEMBLY

Clic
k t

o BUY NOW!PD
F-XChange Editor

w
ww.pdf-xchange.com Clic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.comClic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.com Clic

k t
o BUY NOW!PD

F-XChange Editor

w
ww.pdf-xchange.com

https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor

